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Mg () + 2HClag = MgClzaq + Ha(&) + @1 (k) @®
MgO (&) + 2HClag = MgClzaq + H2O(i) + Q2 (k]) @

1

Hz(50) + - 0250) = HO() + 286 K] ®
1

Mg () + 5~ Oz(5) = MgO(H) + @ (kJJ @
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Mg (%) + %02(&5&)= MgO(l#l) + @1 (k]J) — @2 (kJJ + 286 k]
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B (k]) =@ (k]) — Q2 (k]) + 286 k] »HEHTE 3,
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1L&w A2 (k] /mol)
MgO([#) 602
MgClz aq 797
HClaq 167
H20(i) 286

O EEZ AWV IRIILERR EDRICHDETE
roFEEHNT
Mg(F)+ Cla(&)+ aqg = MgCleaq + 797 kJ
Ho(&)+ Cla(&)+ aq = 2HClaqg + 167 x 2 k]
o2&
Mg([E)+ 2HClag = MgClzaq + Ha(50)+ @1 (kJ)
Q1 (k]) =797 kJ — 334 k] = 463 k]
TR LETERRE O RnET 463 k] /mol

O EZ AW /-B{E~ T XDV LEEBR EDRIDEHDETE
roFEEHNT
Mg([E)+ Cl2(5)+ ag = MgCleaq + 797 kJ

1
Mg ([#) + 302(&30: MgO(#) + 602 kJ
Ha(5) + Clo(5%) + ag = 2HClaq + 167 X 2 k]

1 -
H2('7TT‘)+? O2(&) = H20(3%) + 286 kJ
CH4RED
MgO([#f) + 2HClaq = MgCleaq + H20(%) + Q2 (kJ)
Q2 (k]) =797 k] — 602 k] — 334 k] + 286 k] = 147 k]
AL~ 27 2w a b g & O RIGEIX 147 k] /mol

Do enb, 73T TLOMBEEQ I,
Q=01 — Q2+ 286 k] =463 k] — 147 k] + 286 k] = 602 k]



